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� � � � � �� ����	�� h(t) =

{
2t + 2, t ∈ [1, 2),
2t + 4, t ∈ [2, 3].

��� λ ∈ [0,∞) �
�������� ��
��
��
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y(t) = y(h(t)) + λ, t ∈ [1, 3], y(s) = 0, ���� s /∈ [1, 3], (2)
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���� y ∈ L∞([1, 3], μ, Rn).
���� λ = 0, �� ��
�
�
�� ��� ����� ����
��
�� ����
�� y(t) ≡ 0, ��� ���
��
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� #�����	�
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y(t) = mλ, t ∈ [ m−1∑
i=0

2i,
m∑

i=0

2i
)
, m = 1, 2, . . . .
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dx (t)
dt

=

0∫
−τ

dη (ϑ)x (t + ϑ) + Bu, t ∈ [0,∞) , ���

J =

∞∫
0

[
xT (t) C1x (t) + uT (t) C2u (t)

]
dt. ���

����� x ∈ R
n, u ∈ R

r � �
�
������� ��	�������� η � �
������	�
��
� !��"��� �
�#�
�������� �
��
���� �
 ����	"� [−τ, 0] , B � �
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 �
	�������� n× r, C1 � C2 �
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���
����� H = L2 ([−τ, 0) , Rn) × R

n. *�����
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dxt

dt
= Axt + Bu, �+�

J =

∞∫
0

[
xT

t (0) C1xt (0) + uT (t) C2u (t)
]

dt . �,�
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(Ax) (ϑ) = x′ (ϑ) , ϑ ∈ [−τ, 0) , (Ax) (0) =

0∫
−τ

dη (s)x (s) ,

(Bu) (ϑ) = 0, ϑ ∈ [−τ, 0) , (Bu) (0) = Bu,

#�� x ∈ D (A) = W
1
2 ([−τ, 0] , Rn) , u ∈ R

r.
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 Pm

N � �
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���"�������� 
�����
����� H � B
m−1
N × R

n. 4���� 
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N

Pm
N ẋN = AxN + Bu �5�
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m
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B
m
N → B

m−1
N × R

n, ���	�
��� �#� �
������� 
�����
������ ����	 Qm
N . *�$���� �
��
)
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 A �
 B
m
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$����� �	 B

m
N � B

m−1
N × R
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dXN+m

dt
= (Qm

N )−1 Hm
N XN+m + (Qm

N )−1 BNu, XN+m ∈ R
n(N+m),

�8,9
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Jm
N =

∞∫
0

(
[XN+m (t)]T0 C1 [XN+m (t)]0 + uT (t) C2u (t)

)
dt,

��� [XN+m]0 
 ���
�� ���������� 
������ XN+m.
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Y������� f(t), ��� t 
 ���������� 
���� N������� ������� [a, b] ��	���� a = t0, . . . , ti−1,
ti, . . . , tn = b �� m ��
��� 	����� ������� δ = b−a

m . �������� �������� Y������ f(t) �
������� ��������������
 � ����
����� δ, 
����� �������������� �� ������� [ti−1, ti]
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